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1. A double convex air bubble in water will act like a: 
(A) Concave lens 
(B) Plane Glass  
(C) Convex lens ANS 
(D) Concave Mirror 

1. ikuh ds vUnj fLFkr f}&mÙky gok dk cqycqyk fuEu çdkj dk O;ogkj 

djsxk% 

(A) vory ysUl dh rjg 

(B) leery Xykl dh rjg 
(C) mÙky ysUl dh rjg 
(D) vory niZ.k dh rjg 

2. Which of the following phenomena produces the 
colours in a soap bubble: 
(A) Interference ANS 
(B) Diffraction 
(C) Polarisation 
(D) All of the above  

2. fuEu ls dkSu&lh ?kVuk ds dkj.k lkcqu dk cqycqyk jaxhu çrhr gksrk 

gS% 

(A) O;frdj.k 
(B) foorZu 
(C) /kzqo.k 
(D) mi;qZä lHkh 

3. Temperature of sun is measured by: 
(A) Gas Thermometer 
(B) Pyrometer ANS 
(C) Vapour pressure Thermometer 
(D) Platinum Resistance Thermometer 

3. lw;Z dk rkieku ukik tkrk gS% 

(A) xSl rkiekih ls 
(B) mÙkki ekih ls 
(C) ok’inkc rkiekih ls 
(D) IysfVue çfrjks/k rkiekih ls 

4. Which one of these is a sex linked disease: 
(A) Fever 
(B) Colour blindness ANS 
(C) Weak bones 
(D) Heart 

4. fuEufyf[kr esa ls dkSu&lk ,d jksx fyax lgyXu gksrk gS% 

(A) Toj 
(B) o.kkZU/krk 
(C) fucZy vfLFk;k¡ 

(D) ân; 

5. Carbohydrate metabolism is controlled by: 
(A) Vitamin B 
(B) Haemoglobin 
(C) Insulin ANS 
(D) L H 

5. “kdZjkvksa dk mikip; fdlls fu;fU=r gksrk gS% 

(A) foVkfeu ch 
(B) gheksXyksfcu 
(C) bUlqfyu 
(D) ,y ,p 

6. Blood gets its RBC’s from: 
(A) Liver 
(B) Spleen 
(C) Kidney 
(D) Bone Marrow ANS 

6. jä dks yky jä df.kdk,a çkIr gksrh gSa% 

(A) ;Ñr ls 
(B) Liyhu ls 
(C) o`ô ls 
(D) vfLFkeTtk ls 

7. Deficiency of Vitamin A results in: 
(A) Loss of Appetite 
(B) Skin Diseases 
(C) Sterility 
(D) Night Blindness ANS 

7. foVkfeu ^,* dh deh ls% 

(A) Hkw[k de gks tkrh gS 
(B) Ropk jksx gks tkrk gS 
(C) cka>iu gks tkrk gS 
(D) jrkSa/kh gks tkrh gS 

8. Earthworm excretes: 
(A) Urea ANS 
(B) Amino acid 
(C) Ammonia 
(D) Uric acid 

8. dspqvk mRlftZr djrk gS% 

(A) ;wfjvk 

(B) vehuks vEy 

(C) veksfu;k 

(D) ;wfjd vEy 

9. Which of the following should not be allowed to Marry: 
(A) RH+ boy, RH– Girl ANS 
(B) RH+ boy, RH+ Girl  
(C) RH– boy, RH+ Girl 
(D) RH– boy, RH– Girl 

9. fuEufyf[kr esa ls fdudks fookg dh vkKk ugha nh tkuh pkfg,% 

(A) vkj-,p-
+ yM+dk, vkj-,p-

– yM+dh 
(B) vkj-,p-

+ yM+dk, vkj-,p-
+ yM+dh 

(C) vkj-,p-
– yM+dk, vkj-,p-

+ yM+dh 
(D) vkj-,p-

– yM+dk, vkj-,p-
– yM+dh 
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10. At normal temperature and pressure, water boils at 
100°C. Deep down the mine water will boil at a 
temperature: 
(A) 100°C 
(B) More than 100°C 
(C) Less than 100°C ANS 
(D) Will not boil at all 

10. lkekU; rki ,o¡ nkc ¼,u-Vh-ih-½ ij ikuh 100 fMxzh lsfYl;l ij 
mcyrk gSA [kku ds vUnj ¼uhps½ ikuh fuEu rki ij mcysxk% 

(A) 100 fMxzh lsfYl;l 
(B) 100 fMxzh lsfYl;l ls vf/kd 

(C) 100 fMxzh lsfYl;l ls de 
(D) fcYdqy ugha mcysxk 

11. Find the odd one out: 
(A) Humayun’s Tomb 
(B) Akshardham Temple 
(C) Qutub Minar 
(D) Rock Garden ANS 

11. fo"ke dks pqusa% 

(A) gqek;w¡ dk edcjk 
(B) v{kj/kke eafnj 

(C) dqrqcehukj 
(D) jkWd xkMsZu 

12. The architecture and town planning of the city of 
Chandigarh was created by Le Corbusier , a 
(A) German National 
(B) French National ANS 
(C) American National 
(D) Russian National 

12. paMhx<+ 'kgj dh okLrqdyk ,o¡ 'kgjh fu;kstu yh dkcksZft;j }kjk fd;k 

x;k tks ,d% 

(A) teZu ukxfjd Fks 
(B) Ýsap ukxfjd Fks 
(C) vesfjdh ukxfjd Fks 

(D) :l ds ukxfjd Fks 

13. Surajkund Crafts Mela of International fame is held 
every year in the month of February in: 
(A) Haryana ANS 
(B) Delhi 
(C) Rajasthan 
(D) None of these 

13. fo'o çfl) lwjtdq.M Øk¶V esyk çR;sd o"kZ Qjojh ekg esa fdl jkT; 

esa vk;ksftr gksrk gS%  

(A) gfj;k.kk 
(B) fnYyh 
(C) jktLFkku 
(D) buesa ls dksbZ ugha 

14. Which state has earned a name of “ Food Basket of 
Country and Granary of India”: 
(A) Haryana 
(B) Punjab ANS 
(C) Rajasthan 
(D) Uttar Pradesh 

14. fuEufyf[kr esa ls dkSu&lk jkT; ßns'k dh [kkn~; Vksdjh ,o¡ Hkkjr dk 

vUu Hk.MkjÞ ds uke ls çfl) gS% 

(A) gfj;k.kk 
(B) iatkc 
(C) jktLFkku 
(D) mÙkj&çns'k 

15. Sariska Tigar Sanctuary is situated in : 
(A) Alwar ANS 
(B) Bharatpur 
(C) Ajmer 
(D) Jaisalmer 

15. lfjLdk ck?k vH;kj.k fdl txg fLFkr gS% 

(A) vyoj 

(B) Hkjriqj 
(C) vtesj 

(D) tSlyesj 

16. Uttaranchal came into being in the year 2000 as the:  
(A) 28th State of India 
(B) 27th State of India ANS 
(C) 26th State of India 
(D) 25th State of India 

16. o"kZ 2000 esa mÙkjkapy jkT; vfLrRo esa vk;k% 

(A) Hkkjr ds 28osa jkT; ds :i esa 
(B) Hkkjr ds 27osa jkT; ds :i esa 
(C) Hkkjr ds 26osa jkT; ds :i esa 
(D) Hkkjr ds 25osa jkT; ds :i esa 

17. Who was the viceroy of India when Indian penal code 
came into force:  
(A) Lord Mayo 
(B) Lord Ripen 
(C) Lord Canning ANS 
(D) Lord Curzon 

17. tc Hkkjrh; naM lafgrk ykxw gqvk rc Hkkjr ds ok;ljk; dkSu Fks% 

(A) ykMZ es;ks 
(B) ykMZ jhisu 
(C) ykMZ dSfuax 
(D) ykMZ dt+Zu 



 (22

 

18. How many languages have been recognized by the 
Indian Constitution now: 
(A) 18 
(B) 22 ANS 
(C) 23 
(D) None of the above 

18. Hkkjrh; lafo/kku esa vc fdruh Hkk"kkvksa dks ekU;rk nh x;h gS% 

(A) 18 
(B) 22 
(C) 23 
(D) buesa ls dksbZ ugha 

19. The term of office of chief election commissioner shall 
be : 
(A) 5 years 
(B) 6 years 
(C) Till the day he/ she attains the age of 65 years 
(D) (B) or (C) whichever is earlier ANS 

19. eq[; pquko vk;qä ds dk;kZy; dk dk;Zdky gksrk gS% 

(A) 5 o"kZ 
(B) 6 o"kZ 
(C) ml fnu rd tc og 65 o"kZ dh mez çkIr djrk gS 
(D) ¼B½ ;k ¼C½ nksuksa esa ls tks igys gks 

20. Nautical mile is a unit of length used in sea and air 
navigation. An international unit of this is equal to: 
(A) 1282 meters 
(B) 1852 meters ANS 
(C) 1702 meters 
(D) 1650 meters 

20. lkeqfæd ehy tks leqæ vkSj ok;q usohxs'ku esa yEckbZ dh ,d bZdkbZ ds 

:i esa ç;qä gksrh gSA bldh vUrjkZ"Vªh; bZdkbZ fdlds cjkcj gS% 

(A) 1282 ehVj 
(B) 1852 ehVj 
(C) 1702 ehVj 
(D) 1650 ehVj 

21. It is a line demarcating the boundaries of India and 
Afghanistan which is recognized by India but not 
Afghanistan: 
(A) Durand Line ANS 
(B) MacMohan Line 
(C) Radcliffe Line 
(D) 24th Parallel 

21. ;g vQxkfuLrku ,o¡ Hkkjr ds e/; lhekdau djus okyh ,d js[kk gS 

tks Hkkjr }kjk ekuk tkrk gS ysfdu vQxkfuLrku }kjk ugha% 

(A) Mqj.M js[kk 
(B) eSdeksgu js[kk 
(C) jSMfDyQ js[kk 
(D) 24ok¡ lekukUrj 

DIRECTIONS: The  Hindustan college is conducting a refresher 
course for students of seven different subjects- English, Physics, 
Mathematics, Zoology, Botany, Reasoning and General 
Awareness from 11th December to 18 December. 

1. Course should start with Physics 
2. 12th December, being Sunday, should be Holiday 
3. Reasoning subject should be on the previous day of the 

General awareness subject 
4. Course should end with English subject 
5. Mathematics should be immediately after the Holiday 
6. There should be a gap of one day between Botany and 

General Awareness. 
7. Zoology should be immediately before English 

22. Which subject will be conducted on Tuesday: 
(A) Botany ANS 
(B) Reasoning 
(C) Mathematics 
(D) None of the above 

funsZ'k% fgUnqLrku dkWyst lkr fHkUu fo"k;ksa& vaxzsth] HkkSfrdh] xf.kr] tho 

foKku] ouLifr foKku] rdZ foKku ,o¡ lkekU; Kku ds fo|kfFkZ;ksa ds fy, ,d 

fjÝslj dkslZ 11 ls 18 fnlEcj rd vk;ksftr dj jgk gSA 

1. dkslZ HkkSfrdh ls çkjEHk gksuk pkfg,A 

2. 12 fnlEcj] tks jfookj gS] dks Nqêh gksuh pkfg, 
3. rdZ foKku dk fo"k; lkekU; Kku fo"k; ls Bhd iwoZ fnol dks 

gksuk pkfg,A  

4. dkslZ vaxzsth fo"k; ls lekIr gksuk pkfg,A 

5. xf.kr Nqêh ds rqjUr ckn gksuk pkfg,A 

6. ouLifr foKku ,o¡ lkekU; Kku ds e/; ,d fnu dk vUrjky 

gksuk pkfg,A 

7. tho foKku vaxzsth fo"k; ds Bhd igys gksuk pkfg,A 

22. eaxyokj dks dkSu&lk fo"k; vk;ksftr fd;k tk;sxk% 

(A) ouLifr foKku 
(B) rdZ foKku 
(C) xf.kr 
(D) buesa ls dksbZ ugha 
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DIRECTIONS: The  Hindustan college is conducting a refresher 
course for students of seven different subjects- English, Physics, 
Mathematics, Zoology, Botany, Reasoning and General 
Awareness from 11th December to 18 December. 

1. Course should start with Physics 
2. 12th December, being Sunday, should be Holiday 
3. Reasoning subject should be on the previous day of the 

General awareness subject 
4. Course should end with English subject 
5. Mathematics should be immediately after the Holiday 
6. There should be a gap of one day between Botany and 

General Awareness. 
7. Zoology should be immediately before English 

23. Which two subjects fall on same day: 
(A) Botany, Reasoning 
(B) Physics, English ANS 
(C) Mathematics ,English 
(D) None of the above 

funsZ'k% fgUnqLrku dkWyst lkr fHkUu fo"k;ksa& vaxzsth] HkkSfrdh] xf.kr] tho 

foKku] ouLifr foKku] rdZ foKku ,o¡ lkekU; Kku ds fo|kfFkZ;ksa ds fy, ,d 

fjÝslj dkslZ 11 ls 18 fnlEcj rd vk;ksftr dj jgk gSA 

1. dkslZ HkkSfrdh ls çkjEHk gksuk pkfg,A 

2. 12 fnlEcj] tks jfookj gS] dks Nqêh gksuh pkfg, 
3. rdZ foKku dk fo"k; lkekU; Kku fo"k; ls Bhd iwoZ fnol dks 

gksuk pkfg,A  

4. dkslZ vaxzsth fo"k; ls lekIr gksuk pkfg,A 

5. xf.kr Nqêh ds rqjUr ckn gksuk pkfg,A 

6. ouLifr foKku ,o¡ lkekU; Kku ds e/; ,d fnu dk vUrjky 

gksuk pkfg,A 

7. tho foKku vaxzsth fo"k; ds Bhd igys gksuk pkfg,A 

23. dkSu&ls nks fo"k; ,d gh fnu iM+saxsA 

(A) ouLifr foKku ,o¡ rdZ foKku 
(B) HkkSfrdh ,o¡ vaxzsth 

(C) xf.kr ,o¡ vaxzsth 

(D) buesa ls dksbZ ugha 

DIRECTIONS: The  Hindustan college is conducting a refresher 
course for students of seven different subjects- English, Physics, 
Mathematics, Zoology, Botany, Reasoning and General 
Awareness from 11th December to 18 December. 

1. Course should start with Physics 
2. 12th December, being Sunday, should be Holiday 
3. Reasoning subject should be on the previous day of the 

General awareness subject 
4. Course should end with English subject 
5. Mathematics should be immediately after the Holiday 
6. There should be a gap of one day between Botany and 

General Awareness. 
7. Zoology should be immediately before English 

24. On Wednesday which subject will be conducted: 
(A) Reasoning ANS 
(B) Zoology 
(C) General awareness 
(D) Botany 

funsZ'k% fgUnqLrku dkWyst lkr fHkUu fo"k;ksa& vaxzsth] HkkSfrdh] xf.kr] tho 

foKku] ouLifr foKku] rdZ foKku ,o¡ lkekU; Kku ds fo|kfFkZ;ksa ds fy, ,d 

fjÝslj dkslZ 11 ls 18 fnlEcj rd vk;ksftr dj jgk gSA 

1. dkslZ HkkSfrdh ls çkjEHk gksuk pkfg,A 

2. 12 fnlEcj] tks jfookj gS] dks Nqêh gksuh pkfg, 
3. rdZ foKku dk fo"k; lkekU; Kku fo"k; ls Bhd iwoZ fnol dks 

gksuk pkfg,A  

4. dkslZ vaxzsth fo"k; ls lekIr gksuk pkfg,A 

5. xf.kr Nqêh ds rqjUr ckn gksuk pkfg,A 

6. ouLifr foKku ,o¡ lkekU; Kku ds e/; ,d fnu dk vUrjky 

gksuk pkfg,A 

7. tho foKku vaxzsth fo"k; ds Bhd igys gksuk pkfg,A 

24. fdl fo"k; dk vk;kstu cq/kokj dks fd;k tk;sxkA 

(A) rdZ foKku 
(B) tho foKku 
(C) lkekU; Kku 
(D) ouLifr foKku 

DIRECTIONS: The  Hindustan college is conducting a refresher 
course for students of seven different subjects- English, Physics, 
Mathematics, Zoology, Botany, Reasoning and General 
Awareness from 11th December to 18 December. 

1. Course should start with Physics 
2. 12th December, being Sunday, should be Holiday 
3. Reasoning subject should be on the previous day of the 

General awareness subject 
4. Course should end with English subject 
5. Mathematics should be immediately after the Holiday 
6. There should be a gap of one day between Botany and 

General Awareness. 
7. Zoology should be immediately before English 

25. How many subjects are there between Reasoning and 
English: 
(A) 1  (B) 3 
(C) 4 (D) 2 ANS 

funsZ'k% fgUnqLrku dkWyst lkr fHkUu fo"k;ksa& vaxzsth] HkkSfrdh] xf.kr] tho 

foKku] ouLifr foKku] rdZ foKku ,o¡ lkekU; Kku ds fo|kfFkZ;ksa ds fy, ,d 

fjÝslj dkslZ 11 ls 18 fnlEcj rd vk;ksftr dj jgk gSA 

1. dkslZ HkkSfrdh ls çkjEHk gksuk pkfg,A 

2. 12 fnlEcj] tks jfookj gS] dks Nqêh gksuh pkfg, 
3. rdZ foKku dk fo"k; lkekU; Kku fo"k; ls Bhd iwoZ fnol dks 

gksuk pkfg,A  

4. dkslZ vaxzsth fo"k; ls lekIr gksuk pkfg,A 

5. xf.kr Nqêh ds rqjUr ckn gksuk pkfg,A 

6. ouLifr foKku ,o¡ lkekU; Kku ds e/; ,d fnu dk vUrjky 

gksuk pkfg,A 

7. tho foKku vaxzsth fo"k; ds Bhd igys gksuk pkfg,A 

25. rdZ foKku ,o¡ vaxzsth ds e/; dqy fdrus fo"k; gSa% 

(A) 1 
(B) 3 
(C) 4 
(D) 2 
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DIRECTIONS: The  Hindustan college is conducting a refresher 
course for students of seven different subjects- English, Physics, 
Mathematics, Zoology, Botany, Reasoning and General 
Awareness from 11th December to 18 December. 

1. Course should start with Physics 
2. 12th December, being Sunday, should be Holiday 
3. Reasoning subject should be on the previous day of the 

General awareness subject 
4. Course should end with English subject 
5. Mathematics should be immediately after the Holiday 
6. There should be a gap of one day between Botany and 

General Awareness. 
7. Zoology should be immediately before English 

26. Which subject is conducted on Friday?  
(A) Botany 
(B) Zoology ANS 
(C) General awareness 
(D) Reasoning 

funsZ'k% fgUnqLrku dkWyst lkr fHkUu fo"k;ksa& vaxzsth] HkkSfrdh] xf.kr] tho 

foKku] ouLifr foKku] rdZ foKku ,o¡ lkekU; Kku ds fo|kfFkZ;ksa ds fy, ,d 

fjÝslj dkslZ 11 ls 18 fnlEcj rd vk;ksftr dj jgk gSA 

1. dkslZ HkkSfrdh ls çkjEHk gksuk pkfg,A 

2. 12 fnlEcj] tks jfookj gS] dks Nqêh gksuh pkfg, 
3. rdZ foKku dk fo"k; lkekU; Kku fo"k; ls Bhd iwoZ fnol dks 

gksuk pkfg,A  

4. dkslZ vaxzsth fo"k; ls lekIr gksuk pkfg,A 

5. xf.kr Nqêh ds rqjUr ckn gksuk pkfg,A 

6. ouLifr foKku ,o¡ lkekU; Kku ds e/; ,d fnu dk vUrjky 

gksuk pkfg,A 

7. tho foKku vaxzsth fo"k; ds Bhd igys gksuk pkfg,A 

26. fdl fo"k; dk vk;kstu 'kqØokj dks fd;k tk;sxk\ 

(A) ouLifr foKku 
(B) tho foKku 
(C) lkekU; Kku 
(D) rdZ foKku 

DIRECTIONS: Find the related number to replace the question 
mark for completing the analogy. 

27. 114 : 243 : : 213 : ?  
(A) 369 
(B) 396 
(C) 936 ANS 
(D) 639 

funsZ'k% vuq:irk dks iw.kZ djus ds fy, ç'uokpd fpUg ds LFkku ij dkSu&lh 

la[;k vk;sxhA 

27. 114 : 243 : : 213 % \ 

(A) 369 
(B) 396 
(C) 936 
(D) 639 

DIRECTIONS: Find the related number to replace the question 
mark for completing the analogy. 

28. 1296 : 30 : : 2401 : ? 
(A) 49 
(B) 35 
(C) 60 
(D) 43 ANS 

funsZ'k% vuq:irk dks iw.kZ djus ds fy, ç'uokpd fpUg ds LFkku ij dkSu&lh 

la[;k vk;sxhA 

28. 1296 : 30 : : 2401 % \ 

(A) 49 
(B) 35 
(C) 60 
(D) 43 

DIRECTIONS: In these questions, an equation is solved on the 
basis of a certain system. On the same basis, find out the correct 
answer from amongst the four alternatives to fill up the blank 
space. 

29. 475 (628) 781; 274 ( ____ ) 576: 
(A) 548 
(B) 284 
(C) 425 ANS 
(D) None of these 

funsZ'k% bu ç'uksa esa ,d lehdj.k dks fdlh fuf'pr rjhds ds vk/kkj ij gy 

fd;k x;k gSA mlh vk/kkj ij pkj fodYiksa esa ls [kkyh txg dks Hkjus ds fy, 

lgh mÙkj dk p;u djsaA 

29. 475 (628) 781; 274 ( ____ ) 576% 

(A) 548 
(B) 284 
(C) 425 
(D) buesa ls dksbZ ugha 

DIRECTIONS: In these questions, an equation is solved on the 
basis of a certain system. On the same basis, find out the correct 
answer from amongst the four alternatives to fill up the blank 
space. 

30. 11600 (19) 580; 9672 ( ____ ) 372: 
(A) 27 
(B) 25 ANS 
(C) 30 
(D) None of these 

funsZ'k% bu ç'uksa esa ,d lehdj.k dks fdlh fuf'pr rjhds ds vk/kkj ij gy 

fd;k x;k gSA mlh vk/kkj ij pkj fodYiksa esa ls [kkyh txg dks Hkjus ds fy, 

lgh mÙkj dk p;u djsaA 

30. 11600 (19) 580; 9672 ( ____ ) 372% 

(A) 27 
(B) 25 
(C) 30 
(D) buesa ls dksbZ ugha 
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DIRECTIONS: In these questions, an equation is solved on the 
basis of a certain system. On the same basis, find out the correct 
answer from amongst the four alternatives to fill up the blank 
space. 

31. 25 (3025) 30; 39 ( ____ ) 45: 
(A) 36 
(B) 7056 ANS 
(C) 2106 
(D) None of these 

funsZ'k% bu ç'uksa esa ,d lehdj.k dks fdlh fuf'pr rjhds ds vk/kkj ij gy 

fd;k x;k gSA mlh vk/kkj ij pkj fodYiksa esa ls [kkyh txg dks Hkjus ds fy, 

lgh mÙkj dk p;u djsaA 

31. 25 (3025) 30; 39 ( ____ ) 45% 

(A) 36 
(B) 7056 
(C) 2106 
(D) buesa ls dksbZ ugha 

32. A quadrilateral with a pair of opposite sides parallel is 
called 
           
(A) Parallelogram 
(B) Trapezium ANS  
(C) Polygon 
(D) None of these 

32. ,d prqHkqZt ftldh foijhr Hkqtk,¡ lekukUrj gSa] dgykrk gSa% 
 

(A) lekUrj prqHkqZt 
(B) leyEc 
(C) cgqHkqt 
(D) buesa ls dksbZ ugha 

33. The cost price of 20 articles is the same as the selling price 
of x articles. If the profit is 25%, then the value of x is           
(A) 15 
(B) 16 ANS 
(C) 18 
(D) 25 

33. 20 oLrqvksa dh ykxr ewY; x oLrqvksa ds foØ; ewY; ds cjkcj gSA ;fn 

ykHk 25% gS rks x dk eku D;k gS 
 

(A) 15 
(B) 16 
(C) 18 
(D) 25 

DIRECTIONS: In the following questions complete the given 
series. 

34. 89, 9, 8, 72, 2, 7, 14, 4, 1, ___: 
(A) 14 
(B) 32 
(C) 4 ANS 
(D) None of these 

funsZ'k% fuEufyf[kr ç'uksa esa Ja`[kyk dks iw.kZ djsaA 

34. 89, 9, 8, 72, 2, 7, 14, 4, 1, ___% 

(A) 14 
(B) 32 
(C) 4 
(D) buesa ls dksbZ ugha 

DIRECTIONS: In the following questions complete the given 
series. 

35. 100009, 10008, 1007, ___: 
(A) 1006 
(B) 106 ANS 
(C) 16 
(D) None of these 

funsZ'k% fuEufyf[kr ç'uksa esa Ja`[kyk dks iw.kZ djsaA 

35. 100009, 10008, 1007, ___% 

(A) 1006 
(B) 106 
(C) 16 
(D) buesa ls dksbZ ugha 

36. Shyam is standing at a wall and walks North East for 4 
km. He then faces south & walks till he can see the wall 
exactly in the west. How far is he from the wall at that 
point? 
(A) 1 
(B) km22  ANS 
(C) 2 
(D) None of these 

36. ';ke ,d nhokj ij [kM+k gS ,o¡ 4 fd-eh- mÙkj iwoZ dh rjQ pyrk 
gSA rc og nf{k.k dh vksj eq¡g djds rc rd pyrk gS tc rd og 

nhokj dks Bhd if'pe dh fn'kk esa ns[k ysA og nhokj ls ml fcUnq ij 

og fdruh nwjh ij gS% 

(A) 1 
(B) km22  
(C) 2 
(D) buesa ls dksbZ ugha 

37. In the first 10 overs of a cricket game, the run rate was 
only 3.2. What should be the run rate in the remaining 40 
overs to reach the target of 282 runs? 
(A) 14 ANS  (B) 32 
(C) 4  (D) None of these 

37. fØdsV ds [ksy esa çFke 10 vksoj esa juksa dh nj dsoy 3.2 FkhA ckdh 
40 vksojksa esa 282 ju dk y{; ikus ds fy, juksa dh nj D;k gksuh 
pkfg,% 

(A) 14  (B) 32 
(C) 4  (D) buesa ls dksbZ ugha 
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38. If SEVENTY    = 343 
   EIGHTY       = 216 
then NINETY   =  
(A) 127 
(B) 123 
(C) 126 
(D) None of these ANS 

38. ;fn SEVENTY    = 343 
    EIGHTY       = 216 
rc  NINETY       = 

(A) 127 
(B) 123 
(C) 126 
(D) buesa ls dksbZ ugha 

39. In the following questions, analyse and select the 
numerical code best suited for the given word: 
RECESSION 
(A) 985533436 
(B) 958544436 
(C) 985877326 ANS 
(D) 898987423 

39. fuEufyf[kr ç'uksa esa fo'ys"k.k djrs gq, ml la[;kRed dksM dks pqusa tks 

fn;s gq, 'kCn dk loZJs"B :i ls çfrfuf/kRo djrk gS% 

RECESSION 
(A) 985533436 
(B) 958544436 
(C) 985877326 
(D) 898987423 

40. Two trains are moving in opposite directions at the 
speed of 50 km and 70 km per hour. Their lengths are 
150 metres and 100 metres. The time required for 
crossing each other is: 
(A) 5 seconds 
(B) 7.5 seconds ANS 
(C) 20 seconds 
(D) 15 seconds 

40. nks jsyxkfM+;k¡ 50 fdeh- ,o¡ 70 fdeh- çfr ?kaVk dh pky ls foijhr 
fn”kk esa py jgh gSaA mudh yEckbZ 150 ehVj ,o¡ 100 ehVj gSA nksuksa 
ds ,d nwljs dks ikj djus esa le; yxsxk% 

(A) 5 lsd.M 
(B) 7.5 lsd.M 
(C) 20 lsd.M 
(D) 15 lsd.M 

41. The average marks scored by 35 students of a class is 
50. If one student is left out, the average falls to 49. 
Marks of that student are: 
(A) 64 
(B) 57 
(C) 84 ANS 
(D) 40 

41. ,d d{kk ds 35 fo|kfFkZ;ksa }kjk vftZr vkSlr vad 50 gSA ;fn ,d 
fo|kFkhZ dks NksM+ fn;k tkrk gS rks vadks dk vkSlr 49 jg tkrk gSA ml 
fo|kFkhZ dk vad fdruk gS% 

(A) 64 
(B) 57 
(C) 84 
(D) 40 

42. 100001 + 10001 + 1001 = ? 
(A) 110003 
(B) 111003 ANS 
(C) 101003 
(D) 101103 

42. 100001 + 10001 + 1001 = \ 

(A) 110003 
(B) 111003 
(C) 101003 
(D) 101103 

43. The kilometer reading of a car was 3740 when the tank 
was half full and 3890 when the tank was empty. If the 
car averages 15 km to the litre, the total capacity of the 
tank is: 
(A) 10 litres 
(B) 15 litres 
(C) 12 litres 
(D) 20 litres ANS 

43. tc Vadh vk/kh Hkjh gqbZ Fkh rks dkj dk fdyksehVj iBu 3740 Fkk vkSj 

3890 Fkk tc Vadh [kkyh FkhA ;fn dkj dk vkSlr 15 fdyksehVj çfr 
yhVj gS rks Vadh dh iw.kZ {kerk D;k gS% 

(A) 10 yhVj 
(B) 15 yhVj 
(C) 12 yhVj 
(D) 20 yhVj 

44. 2525257 – 262718 – 34215 = ? 
(A) 2228234 
(B) 2282324 
(C) 2228324 ANS 
(D) 2282324 

44. 2525257 – 262718 – 34215 = \ 

(A) 2228234 
(B) 2282324 
(C) 2228324 
(D) 2282324 
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45. 271513 × 31 = ? 
(A) 8146903 
(B) 8416309 
(C) 8461903 
(D) 8416903 ANS 

45. 271513 × 31 = \ 

(A) 8146903 
(B) 8416309 
(C) 8461903 
(D) 8416903 

46. A person crosses a 600 m long street in 5 minutes. What 
is his speed in km per hour? 
(A) 3.6 
(B) 7.2 ANS 
(C) 8.4 
(D) 10 

46. ,d O;fä 600 eh- yEch xyh dks 5 feuV esa ikj djrk gSA mldh 

xfr fdeh-@?k.Vk esa D;k g 

(A) 3.6 
(B) 7.2 
(C) 8.4 
(D) 10 

47. If a clock started at noon, then the angle traversed by 
the hour hand at 5.45 PM will be: 

(A) 112
2
1o

 

(B) 120° 

(C) 172
2
1o

 ANS 

(D) 180° 

47. ;fn ,d ?kM+h nksigj 12 cts vkjEHk gqbZ] rks ?kaVs okyh lqbZ] 05:45 
PM rd] fdrus va”k pyh% 

(A) 112
2
1o

 

(B) 120° 

(C) 172
2
1o

 

(D) 180° 

48. If the length of a rectangle is increased by 20% and 
width of the same rectangle decreased by 20%, then the 
area of the rectangle: 
(A) Decreases by 20% 
(B) Decreases by 4% ANS 
(C) Is unchanged 
(D) Increases by 20% 

48. ;fn ,d vk;r dh yEckbZ 20 çfr”kr c<+k nh tk, vkSj mlh vk;r 

dh pkSM+kbZ 20 çfr”kr ?kVk nh tk, rks vk;r dk {ks= Qy% 

(A) 20 çfr”kr ?kV tk,xk 
(B) 4 çfr”kr ?kV tk,xk 
(C) vifjofrZr jgsxk 

(D) 20 çfr”kr c<+ tk,xk 

49. Which fraction is the largest: 

(A) 
2
1   (B) 

4
3  

(C) 
5
4  ANS  (D) 

3
2  

49. dkSu&lk fHké lcls cM+k gS% 

(A) 
2
1   (B) 

4
3  

(C) 
5
4   (D) 

3
2  

50. Which fraction is the smallest: 

(A) 
7
4   (B) 

10
3  

(C) 
18
5    (D) 

27
6  ANS 

50. dkSu&lk fHké lcls NksVk gS% 

(A) 
7
4   (B) 

10
3  

(C) 
18
5   (D) 

27
6  

51. How much time will it take for an amount of ` 450 to 
yield ` 81 as interest at 4.5% per annum of simple 
interest ? 
(A) 3.5 years 
(B) 4.5 years 
(C) 5 years 
(D) 4 years ANS 

51. ` 450 dh ,d jde ij 4.5% çfro’kZ ij lk/kkj.k C;kt dh nj ls ` 
81 vftZr djus ds fy, fdrus le; dh vko”;drk gksxh 

(A) 3.5 o’kZ 
(B) 4.5 o’kZ 
(C) 5 o’kZ 
(D) 4 o’kZ 

52. If the quantity of water flowing through a pipe is proportional 
to the square of  its diameter and a pipe of 1 cm. dia fills a 
tank in 1 hour. How long will 2 pipes of diameter 2 cms. and 
4 cms. take to fill the tank: 
(A) 30 Minutes  
(B) 20 Minutes 
(C) 10 Minutes 
(D) 3 Minutes ANS 

52. ;fn ikbZi ls cgrs gq, ikuh dh ek=k blds O;kl ds oxZ ds vkuqikfrd 

gS vkSj 1 lseh- O;kl okyk ikbZi ,d Vadh dks ,d ?kaVs esa Hkjrk gS rks 
2 lseh- ,o¡ 4 lseh- O;kl okys nks ikbZi Vadh dks Hkjus esa fdruk le; 
yxk,xsa% 

(A) 30 feuV 
(B) 20 feuV 
(C) 10 feuV 
(D) 3 feuV 
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53. Seventy five percent of a work can be finished by 12 
men in 14 days. How many additional men are required 
to finish the balance in 2 days: 
(A) 12 
(B) 16 ANS 
(C) 20 
(D) 18 

53. ,d dk;Z dk 75 çfr”kr Hkkx ckjg O;fä;ksa }kjk 14 fnuksa esa iw.kZ fd;k 
tkrk gSA rks “ks’k dk;Z dks nks fnu esa iw.kZ djus esa fdrus vfrfjä 

O;fä;ksa dh vko”;drk gksxh% 

(A) 12 
(B) 16 
(C) 20 
(D) 18 

54. Two different numbers when divided by a certain divisor 
leaves remainders 547 and 349 respectively. When the 
sum of the two numbers is divided by the same divisor, 
the remainder is 211. Find the divisor: 
(A) 896 
(B) 685 ANS 
(C) 865 
(D) None of these 

54. nks fofHkUu la[;kvks dks tc ,d fuf'pr foHkktd }kjk foHkkftr fd;k tkrk 

gS rks 'ks"kQy Øe'k% 547 ,o¡ 349 cprk gSA tc mu nks la[;kvks ds tksM+ 

dks mlh foHkktd }kjk foHkkftr fd;k tkrk gS rks 'ks"kQy 211 cprk gSA 
foHkktd Kkr djsa% 

(A) 896 
(B) 685 
(C) 865 
(D) buesa ls dksbZ ugha 

55. When the price of tea is reduced by 20%, 4 kg of tea can 
be purchased more for Rs. 80/-. Find the original price of 
tea: 
(A) Rs. 5/- per kg ANS 
(B) Rs. 8/- per kg 
(C) Rs. 10/- per kg 
(D) None of these 

55. tc pk; dh dher 20 çfr”kr ?kVk nh tkrh gS] rks 80/- #- esa 4 
fdyks pk; T;knk [kjhnh tk ldrh gSA pk; dh ewy dher Kkr djsa% 

(A) #- 5/- çfr fdyks 
(B) #- 8/- çfr fdyks 
(C) #- 10/- çfr fdyks 
(D) buesa ls dksbZ ugha 

56. What least number which must be added to 1056, so that 
the sum is completely divisible by 23 
(A) 3 
(B) 18 
(C) 2 ANS 
(D) 21 

56. 1056 esa lcls NksVh la[;k dkSu&lh tksM+h tk, ftlls bldk ;ksx 23 ls 
iw.kZr% foHkkftr gks tk, 

(A) 3 
(B) 18 
(C) 2 
(D) 21 

57. Find the incorrect statement in respect of parallelogram 
 
(A) Opposite sides are equal 
(B) Opposite angles are equal 
(C) Diagonals bisect each other but need not be equal ANS 
(D) Sum of adjacent angles is 90º 

57. lekUrj prqHkqZt ds lanHkZ esa vlR; dFku dk pquko dj 

 
(A) foijhr Hkqtk,a cjkcj gksrh gSa 
(B) foijhr dks.k cjkcj gksrs gSa 
(C) fod.kZ ,d nwljs dks foPNsn djrs gSa ysfdu cjkcj gksuk vko”;d ugha gS 
(D) fudVorÊ dks.k dk ;ksx 90º gksrk gS 

58. Identify the incorrect statement 
(A) Diameter is the longest chord of a circle. ANS 
(B) A segment of a circle is the region between an arc and a 

chord of the circle 
(C) A line segment joining the center to any point on the 

circle is called its chord 
(D) Two circles having the same center and different radii 

are called concentric circles 

58. vlR; dks igpkusa 

(A) o`Ùk dk lokZf/kd yEck thok O;kl gksrk gS 
(B) o`Ùk dk ,d [k.M o`Ùk ds pki ,oa thok ds e/; ,d {ks= gksrk gS 
(C) o`Ùk ds fdlh fcUnq ij feykrh gqbZ ,d js[kk [k.M dks bldh thok 

dgrs gSa 
(D) nks o`Ùkksa ftudk ,d gh dsUæ ,oa fHké f=T;k,a gSa og dkWUlsfUVªd 

o`Ùk dgykrk gS 

59. Rs. 6200/- amounts to Rs. 9176 in four years at simple 
interest. If the rate of interest is increased by 3% It 
would amount to how much? 
(A) Rs. 9920/- ANS 
(B) Rs. 10900/- 
(C) Rs. 11532/- 
(D) None of these 

59. lk/kkj.k C;kt ij 6200 #- 4 o"kZ esa 9176 #- gks tkrk gSA ;fn 
C;kt dh nj 3 çfr”kr c<+k nh tk, rks jde c<+dj gks tk;sxh% 
(A) #- 9920/- 
(B) #- 10900/- 
(C) #- 11532/- 
(D) buesa ls dksbZ ugha 
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60. Ram had taken some loan from Rajeev on simple 
interest of 11% P.A. After 4 years he returned the loan 
and interest by paying Rs. 7200/-. How much interest did 
he pay: 
(A) Rs. 2000 
(B) Rs. 4040 
(C) Rs. 3200 
(D) Rs. 2200 ANS 

60. jke us jktho ls 11 çfr”kr çfro"kZ lk/kkj.k C;kt ij ,d _.k fy;kA 

4 o"kZ i'pkr mlus _.k ,o¡ C;kt 7200 #- pqdkdj vnk dj fn;kA 

rks mlus fdruk C;kt vnk fd;k% 

(A) #- 2000 
(B) #- 4040 
(C) #- 3200 
(D) #- 2200 

61. Three fifth of two third of one fourth of a number is 40 
more than one sixth of 660. What is 50% of that number: 
(A) 850 
(B) 750 ANS 
(C) 700 
(D) None of these 

61. ,d la[;k ds ,d pkSFkkbZ ds nks frgkbZ dk 3/5 660 ds 1/6 ls 40 
T;knk gSA ml la[;k dk 50 çfr”kr fdruk gS% 

(A) 850 
(B) 750 
(C) 700 
(D) buesa ls dksbZ ugha 

62. Number Q is 60 more than twice the number P. Number 
R is 10 more than thrice the number Q. If average of 
PQR is 110, what is the value of R: 
(A) 210 ANS 
(B) 190 
(C) 110 
(D) None of these 

62. la[;k d la[;k [k ds nqxus ls 60 T;knk gSA la[;k x la[;k d ds 
frxqus ls 10 T;knk gSA ;fn d [k vkSj x dk vkSlr 110 gS] rks x dk 
eku D;k gksxk% 

(A) 210 
(B) 190 
(C) 110 
(D) buesa ls dksbZ ugha 

63. Total number of apples available were consumed by 
eight families sharing equal apples. Had the apples been 
shared by ten families, per family consumption would 
have been reduced by 8 apples. What was the total 
number of apples available for consumption: 
(A) 320 ANS 
(B) 240 
(C) 160 
(D) None of these 

63. miyC/k dqy lscksa dh la[;k dk miHkksx 8 ifjokjksa }kjk cjkcj lscksa esa 
ck¡Vdj fd;k x;kA ;fn 10 ifjokjksa esa bu lscksa dks ck¡Vk tkrk rks çfr 
ifjokj miHkksx 8 lsc ls de gks tkrkA miHkksx ds fy, miyC/k lscksa 
dh dqy la[;k fdruh Fkh% 

(A) 320 
(B) 240 
(C) 160 
(D) buesa ls dksbZ ugha 

 

64. Find the odd one out: 
(A) Humayun’s Tomb 
(B) Akshardham Temple 
(C) Qutub Minar 
(D) Rock Garden ANS 

64. fo"ke dks pqusa% 

(A) gqek;w¡ dk edcjk 
(B) v{kj/kke eafnj 

(C) dqrqcehukj 
(D) jkWd xkMsZu 

65. Surajkund Crafts Mela of International fame is held 
every year in the month of February in: 
(A) Haryana ANS 
(B) Delhi 
(C) Rajasthan 
(D) None of these 

65. fo'o çfl) lwjtdq.M Øk¶V esyk çR;sd o"kZ Qjojh ekg esa fdl jkT; 

esa vk;ksftr gksrk gS%  

(A) gfj;k.kk 
(B) fnYyh 
(C) jktLFkku 
(D) buesa ls dksbZ ugha 

66. Which state has earned a name of “ Food Basket of 
Country and Granary of India”: 
(A) Haryana 
(B) Punjab ANS 
(C) Rajasthan 
(D) Uttar Pradesh 

66. fuEufyf[kr esa ls dkSu&lk jkT; ßns'k dh [kkn~; Vksdjh ,o¡ Hkkjr dk 

vUu Hk.MkjÞ ds uke ls çfl) gS% 

(A) gfj;k.kk 
(B) iatkc 
(C) jktLFkku 
(D) mÙkj&çns'k 
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67. Sariska Tigar Sanctuary is situated in : 
(A) Alwar ANS 
(B) Bharatpur 
(C) Ajmer 
(D) Jaisalmer 

67. lfjLdk ck?k vH;kj.k fdl txg fLFkr gS% 

(A) vyoj 

(B) Hkjriqj 
(C) vtesj 

(D) tSlyesj 

68. What is ratio of width of the national flag to its length: 
(A) 1:3 
(B) 2:3 ANS 
(C) 3:4 
(D) 3:1 

68. jk"Vª /ot dk pkSM+kbZ ls yEckbZ dk vuqikr D;k gS% 

(A) 1:3 
(B) 2:3 
(C) 3:4 
(D) 3:1 

69. The song Jana-gana-mana is originally composed in: 
(A) Bengali ANS 
(B) Assamese 
(C) Sanskrit 
(D) Nepali 

69. xhr tu&x.k&eu ekSfyd :i esa fdlesa ladfyr fd;k x;k gS% 

(A) caxkyh 
(B) vleht+ 

(C) laLÑr 
(D) usikyh 

70. The first month of national calander is: 
(A) Bhadrapad 
(B) Chaitra ANS 
(C) Magh 
(D) None of the above 

70. jk"Vªh; dSysUMj dk çFke ekg gS% 

(A) Hkkæin 
(B) pS= 
(C) ek?k 
(D) mi;qZä esa dksbZ ugha 

71. The present prime minister of India is a Rajya Sabha 
member from which State: 
(A) Uttar Pradesh 
(B) Madhya Pradesh 
(C) Assam ANS 
(D) None of the Above 

71. Hkkjr ds orZeku ç/kkuea=h fdl jkT; ls jkT; lHkk ds lnL; gSa% 

(A) mÙkj çns'k 
(B) e/; çns'k 
(C) vle 

(D) mi;qZä esa dksbZ ugha 

72. National flower of India is: 
(A) Lotus ANS 
(B) Rose 
(C) Jasmine 
(D) Tulip 

72. Hkkjr dk jk"Vªh; Qwy gS% 

(A) dey 
(B) xqykc 
(C) pesyh 
(D) rqfyi 

73. One of these is not situated in Delhi: 
(A) The Gateway of India ANS 
(B) Qutab Minar 
(C) Parliament of India 
(D) Red Fort 

73. fuEufyf[kr esa ls ,d fnYyh esa fLFkr ugha gS% 

(A) xsVos vkWQ bf.M;k 

(B) dqrqcehukj 
(C) Hkkjr dk laln Hkou 
(D) yky fdyk 

74. Who founded slave dynasty? 
(A) Illtutmish 
(B) Akbar 
(C) Qutub-ud-din Aibak ANS 
(D) Humayun 

74. xqyke oa'k dk laLFkkid Fkk% 

(A) bYrqrfe'k 
(B) vdcj 

(C) dqrqcqíhu ,scd 
(D) gqek;w¡ 

75. Who built Tajmahal: 
(A) Shahjahan ANS 
(B) Aurangzeb 
(C) Jahangir 
(D) Humayun 

75. rktegy fdlus cuok;k% 

(A) 'kkgtgk¡ 
(B) vkSjaxt+sc 

(C) tgk¡xhj 
(D) gqek;w¡ 
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76. One of the following was not Babur’s Son 
(A) Humayun 
(B) Kamran 
(C) Askari 
(D) Shahjahan ANS 

76. fuEufyf[kr esa ls ,d ckcj dk iq= ugha Fkk% 

(A) gqek;w¡ 
(B) dkejku 
(C) vLdjh 

(D) 'kkgtgk¡ 

77. Sania Mirza is related to which sports: 
(A) Cricket 
(B) Badminton 
(C) Chess 
(D) Tennis ANS 

77. lkfu;k fet+kZ fdl [ksy ls lEcfU/kr gS% 

(A) fØdsV 
(B) cSMfeUVu 
(C) 'krjat 
(D) Vsful 

78. The five year plan currently operating in India is: 
(A) Eleventh 
(B) Tenth ANS 
(C) Ninth 
(D) Fourteenth 

78. orZeku esa Hkkjr esa dk;Zjr iapo"kÊ; ;kstuk gS% 

(A) 11oha 
(B) 10oha 
(C) 9oha 
(D) 14oha 

79. Which planet is nearest to the Earth: 
(A) Venus ANS 
(B) Jupiter 
(C) Mars 
(D) Pluto 

79. i`Foh ds lcls fudV dkSu&lk xzg gS% 

(A) 'kqØ 
(B) c`gLifr 
(C) eaxy 
(D) cq/k 

80. The Earth comes nearest to the sun in: 
(A) July 
(B) September 
(C) December ANS 
(D) February 

80. i`Foh lw;Z ds lcls utnhd dc vkrh gS% 

(A) tqykbZ esa 
(B) flrEcj esa 
(C) fnlEcj esa 
(D) Qjojh esa 

81. One horse power is equal to: 
(A) 746 watts ANS 
(B) 1000 watts 
(C) 676 watts 
(D) 100 watts 

81. ,d v'o 'kfä cjkcj gksrk gS% 

(A) 746 okWV~l 
(B) 1000 okWV~l 
(C) 676 okWV~l 
(D) 100 okWV~l 

82. National game of India: 
(A) Cricket 
(B) Hockey ANS 
(C) Football 
(D) Tennis 

82. Hkkjr dk jk"Vªh; [ksy gS% 

(A) fØdsV 
(B) gkWdh 
(C) QqVckWy 
(D) Vsful 

83. (3)4+(2)4 +2 × 0.25 is equal to: 
(A) 69.5 
(B) 79.5 
(C) 97.5 ANS 
(D) 96.5 

83. (3)4+(2)4 +2 × 0.25 =% 
(A) 69.5 
(B) 79.5 
(C) 97.5 
(D) 96.5 

84. Which of the following fraction is the smallest: 
(A) 4/5 ANS 
(B) 5/6 
(C) 6/7 
(D) 7/8 

84. fuEu esa ls lcls NksVh fHkUu dkSu&lh gS% 

(A) 4/5 
(B) 5/6 
(C) 6/7 
(D) 7/8 

85. Which of the following fraction is the largest: 
(A) 8/13 ANS  (B) 7/12 
(C) 6/11  (D) 5/10 

85. fuEu esa ls lcls cM+h fHkUu dkSu&lh gS% 

(A) 8/13  (B) 7/12 
(C) 6/11  (D) 5/10 
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86. If one half of a number is 8 more than 1/3 of that 
number, the number is: 
(A) 36 
(B) 48 ANS 
(C) 52 
(D) 60 

86. ;fn fdlh la[;k dk vk/kk mlds frgkbZ ls 8 vf/kd gS] rks og la[;k 

crk,a% 

(A) 36 
(B) 48 
(C) 52 
(D) 60 

87. 6.5 ÷ .0005 is equal to: 
(A) 1300 
(B) .0013 
(C) 130 
(D) 13000 ANS 

87. 6.5 ÷ .0005 cjkcj gS% 
(A) 1300 
(B) .0013 
(C) 130 
(D) 13000 

88. Value of 2472–1472 is equal to: 
(A) 39400 ANS 
(B) 3940 
(C) 30940 
(D) 34900 

88. 2472–1472 dk ewY;% 

(A) 39400 
(B) 3940 
(C) 30940 
(D) 34900 

89. 3.80 + 192 + 4.08 = ? 
(A) 199.98 
(B) 199.88 ANS 
(C) 198.88 
(D) 199.75 

89. 3.80 + 192 + 4.08 = \ 

(A) 199.98 
(B) 199.88 
(C) 198.88 
(D) 199.75 

90. 253 + 202 = ? 
(A) 16125 
(B) 16925 
(C) 16025 ANS 
(D) 17125 

90. 253 + 202 = \ 

(A) 16125 
(B) 16925 
(C) 16025 
(D) 17125 

91. 3.087 × 1000 = ? 
(A) 3087 ANS 
(B) 30087 
(C) 387 
(D) 3870 

91. 3.087 × 1000 = \ 

(A) 3087 
(B) 30087 
(C) 387 
(D) 3870 

92. 875925 – 529578 = ? 
(A) 364347 
(B) 343647 
(C) 346347 ANS 
(D) 346437 

92. 875925 – 529578 = \ 

(A) 364347 
(B) 343647 
(C) 346347 
(D) 346437 

93. 13.25 × 10.32 = ? 
(A) 136.74 ANS 
(B) 146.64 
(C) 126.64 
(D) 126.74 

93. 13.25 × 10.32 = \ 

(A) 136.74 
(B) 146.64 
(C) 126.64 
(D) 126.74 

94. ? × 52.50 = 945 
(A) 17 
(B) 18 ANS 
(C) 19 
(D) 16 

94. \ × 52.50 = 945 

(A) 17 
(B) 18 
(C) 19 
(D) 16 

95. If 18 is 15% of 30% of a certain number then what is the 
number? 
(A) 250  (B) 450 
(C) 300  (D) 400 ANS 

95. ;fn fdlh la[;k ds 30 çfr”kr dk 15 çfr”kr gksrk gS 18 rks og 
la[;k crkvks\ 

(A) 250  (B) 450 
(C) 300  (D) 400 
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96. A number is multiplied by its one third to get 192. Find 
the number: 
(A) 23 
(B) 24 ANS 
(C) 22 
(D) None of these 

96. ,d la[;k vius ,d frgkbZ ls xq.kk gksus ij 192 gksrk gSA og la[;k 
crk,a% 

(A) 23 
(B) 24 
(C) 22 
(D) buesa ls dksbZ ugha 

97. The average of three numbers is 77. The first number is 
twice the second and the second number is twice of 
third. Find the first: 
(A) 131 
(B) 130 
(C) 129 
(D) None of these ANS 

97. rhu la[;kvksa dk vkSlr 77 gSA igyh la[;k nwljh la[;k dh nqxquh gS 
,o¡ nwljh la[;k rhljh dh nqxquh gSA rks igyh la[;k crk,a% 

(A) 131 
(B) 130 
(C) 129 
(D) buesa ls dksbZ ugha 

98. One -fourth of one third of two-fifth of a number is 15. 
What will be 40% of that number? 
(A) 120 
(B) 180 ANS 
(C) 270 
(D) 350 

98. ,d la[;k ds 2/5 dk ,d frgkbZ dk ,d pkSFkkbZ 15 gS rks ml la[;k 

dk 40% D;k gksxk\ 

(A) 120 
(B) 180 
(C) 270 
(D) 350 

99. Ram purchased 25 kgs of rice at the rate of ` 45 per kg 
and 12 kgs of pulses at the rate of ` 28 per kg. What is 
the total amount that he paid to the shopkeeper? 
(A) 1466 
(B) 1416 
(C) 1461 ANS 
(D) 1471 

99. jke us pkoy ` 45 çfr fdxzk- dh nj ls 25 fdxzk- vkSj nkysa ` 28 
çfr fdxzk- dh nj ls 12 fdxzk- [kjhnkA nwdkunkj dks mlus dqy fdrus 
#i, fn;s\ 

(A) 1466 
(B) 1416 
(C) 1461 
(D) 1471 

100. Ram bought a cycle and sold it for ` 4550 which is 30% 
more than the original price. What is the original price of 
the cycle 
(A) ` 3500/- ANS 
(B) ` 3800/- 
(C) ` 3600/- 
(D) ` 3400/- 

100. jke us ,d lkbZfdy [kjhn dj ` 4,550 esa cspk tks ekSfyd dher ls 
30% T;knk FkhA lkbZfdy dh ekSfyd dher D;k Fkh\ 

(A) ` 3500/- 
(B) ` 3800/- 
(C) ` 3600/- 
(D) ` 3400/- 

 


